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Introduction

Mason is creating word problems from equations which have been 
built in stages. Can you match the word problems to the equations?

Can you create a word problem for the remaining equation?
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n n – 8 n – 8 = 17

n n + 14 n + 14 = 20

n 2n 2n + 10 2n + 10 = 18
I think of a number. I 

subtract 8. My 
answer is 17. 

I think of a number. I 
add 14. My answer is 

20.



Introduction

Mason is creating word problems from equations which have been 
built in stages. Can you match the word problems to the equations?

Can you create a word problem for the remaining equation?
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I think of a number. I 
multiply it by 2. I add 
10. My answer is 18.

n n – 8 n – 8 = 17

n n + 14 n + 14 = 20

n 2n 2n + 10 2n + 10 = 18
I think of a number. I 

subtract 8. My 
answer is 17. 

I think of a number. I 
add 14. My answer is 

20.



Varied Fluency 1

Use the equation below to fill in the gaps in the word problem.

p ÷ 3 = 9 

I think of a number. I divide it by _____ and my answer is _____  .
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Varied Fluency 1

Use the equation below to fill in the gaps in the word problem.

p ÷ 3 = 9 

I think of a number. I divide it by 3 and my answer is 9.
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Varied Fluency 2

In which of the options below does the unknown value equal 4?

A. 25 - w = 21

B.  

C. Kerry had 17 sweets. Miles stole some. Kerry has 13 sweets left. 
How many did Miles steal?
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Varied Fluency 2

In which of the options below does the unknown value equal 4?

A. 25 - w = 21

B.  

C. Kerry had 17 sweets. Miles stole some. Kerry has 13 sweets left. 
How many did Miles steal? 

A and C
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Varied Fluency 3

Circle the equation which matches the word problem below:

Theo thinks of a number. He multiplies it by 4 and then subtracts 3. 
His answer is 13. What was his starting number? 
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3n – 4 = 13 4n – 3 = 13 4 – 3 = 13



Varied Fluency 3

Circle the equation which matches the word problem below:

Theo thinks of a number. He multiplies it by 4 and then subtracts 3. 
His answer is 13. What was his starting number? 
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3n – 4 = 13 4n – 3 = 13 4 – 3 = 13



Varied Fluency 4

True or false? The equation matches the word problem below.

28 = b + 17

Tana lines up 28 building blocks. The blocks are yellow or blue. She 
uses 17 yellow blocks. How many blue blocks does she use?
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Varied Fluency 4

True or false? The equation matches the word problem below.

28 = b + 17

Tana lines up 28 building blocks. The blocks are yellow or blue. She 
uses 17 yellow blocks. How many blue blocks does she use?

True
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Problem Solving 1

Use some of the cards to create an algebraic equation.

Draw an image using concrete materials and write a word problem 
to match the equation created.
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2.5 + ÷ 7 4



Problem Solving 1

Use some of the cards to create an algebraic equation.

Draw an image using concrete materials and write a word problem 
to match the equation created.

Various answers, for example: n ÷ 7 = 2.5.

The image and word problem must match the equation.
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2.5 + ÷ 7 4



Reasoning 1

Which is the odd one out?

A. I think of a number. I multiply it by 4. I add 3. My answer is 11.

B.

C. 3n + 8 = 11

Explain your answer.
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Reasoning 1

Which is the odd one out?

A. I think of a number. I multiply it by 4. I add 3. My answer is 11.

B.

C. 3n + 8 = 11

Explain your answer.

Option C because… 
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Reasoning 1

Which is the odd one out?

A. I think of a number. I multiply it by 4. I add 3. My answer is 11.

B.

C. 3n + 8 = 11

Explain your answer.

Option C because the unknown number is 1. In the other options it is 
2.
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Reasoning 2

Dan and Sangeet are creating word problems based on the 
equation below.

4e + f = 156 

Who is incorrect? Explain your answer.

I put 4 marbles and one toy 
car on a scale. Together 

they weigh 156g.
Dan

I think of a number. I add 
another number to it and 

multiply by 4 to make 156. 
Sangeet
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Reasoning 2

Dan and Sangeet are creating word problems based on the 
equation below.

4e + f = 156 

Who is incorrect? Explain your answer.

Sangeet is incorrect because… 

I put 4 marbles and one toy 
car on a scale. Together 

they weigh 156g.
Dan

I think of a number. I add 
another number to it and 

multiply by 4 to make 156. 
Sangeet
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Reasoning 2

Dan and Sangeet are creating word problems based on the 
equation below.

4e + f = 156 

Who is incorrect? Explain your answer.

Sangeet is incorrect because she only needs to multiply e (the 
marbles) by 4. Her order of operations is incorrect. 

I put 4 marbles and one toy 
car on a scale. Together 

they weigh 156g.
Dan

I think of a number. I add 
another number to it and 

multiply by 4 to make 156. 
Sangeet
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